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Choose the most suitable answer and shade the corres
Answer Sheet (OAS) provided.
1. All electrica; wires must be made of
yespectively.
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BN trap aiv that is a poor conduetor of heat
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thh one of the foltowing
power:plant 2

desartbes the energy conversionin an imcinerabion

(1) Potent Ial Ene“m ey Kanetic Energy ~-» ;\'?nefir Energy —» Blec

eatnes
of petroleum of steam sfnebines . Frergy

(2) Potedtial Energy -, Kmetc Erergy -, Kinet © Ene OV . EBlectrical
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(3) Potential Enersy . Potential Ensrgv._ o Kinstic Energy oy Electical

.
© of garbage of steam ¥ turbines Faergy
. (4) Potential Energy ~—> Poteatial Brergy —a Kinevc Brarpy — Elsctmeal
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—— =
"

When coal 1s burned to pmqu\e electricity, the eisctncal energy pros juced s less
thap the potential energy 1 the coal. Whnach of the toliowing best explains JLS ;
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Same of the porantial energy n the coal ¢ cenverted Wi forms of energy
other vhan elecricity.

(2) Ascoalis heated, some of the particies in tonw move o tast that thay are
destroyad.

(3) The intenss heat required o release its stored enerey destroyvs some of the
energy m coal. ~ .
(4) The amount of potential erergy
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How are the objec*‘ ctassified?
They are classified accorcing o whether theyvare .

(A}
(BY
(C}
(D) conductors or nan~caonductors of elactrisity
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In the set-up shown, water {s alIow dto ﬂoxx out ot & small ot t... tm .mm
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Geoup &

group the folinwing organisims shovm beiow accerding to how
w0

those above

Gavin wazs rold to
they were similar
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Which of the following shows curracily how

’_ Groug A Group B

— - o3 - J

2 25,6 o f 1,3,4 j
L {3) ? 1,2.3,4 B
e i ;
L () | N i3 ]
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What happens 1o the exergy leaving the decomposers?

tisreflectad back o the son.
is stored &s poicntial energy.

t
tis used to power factonies.
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10, refer w the Jagram hetow. Which part of tha river has the mast kinetis ensray?
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5 davs. Leaves P and (J were then

A'stbstance s used o rerwave carhon dloxide
in the conical flask

ke experiment are as shown,

o Drop ofjodine tumed dark blue
© Nachange iy icdine
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12. Some leaves of plaiits have one or move of tiess featarssy

A waxy surface
B:  large surface area
C+ . hairs on the underside

3 -

Which of these features will help to r»au:e water 1058 o the leaves?

(1) AandB
2y AanaC
(3) BandC
(4) A/ BandC

13.  Fourrods of egual diameter and isngih wers et to as 2hov g

" below. Three drawing pins were placed on the wax which was attached o
wnderside of each rod. The rods were then heated at one end tor & few ou

shown in the diagrams below. ‘
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Px, o Fibrelsa matenal that is used to insulaie homes 3 2ast heat
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An arimal ¥ had a mags of § gramns wheant was @ week oia. i
grams whert it was a month old.  Which of the faliowing wouid
to the merease in 1S mass?

A
B
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el growtn
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(1) A only
) A and Conly
{3) . BandlTonly

(4) Conly

Respiration takes place In the o of acell. B
{1) pucleus _ N it
{3) cell wall {4} ceh membrane
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(N medtivm for chemical reactions 1o ke placs
(2} solulion comtaining sugars ard wher substamees
(3 thin pariteliy permeabie iayer
(4) thin lining in a piant ¢l
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soad energy i m the abave set-up, which ofthe |

A frow the top of ramp A.. It travels downwards and alorig the
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Which ane of the following statements is cérrect?

(i Thare 5 ne friction whenaver the ball rotis dows,

2 "»"v‘”hct:i the bail s released, the ball gains petential ens

Y The hall Wil stop at C because it has ]OSX some of i ,\m*m eh
6 When the ball travels up Bl kinetic energy is changed! to potential

M D mmp } anges itf* po’ } ang k\‘w lc ener g‘* Whirh
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23.  Benjarndin hung 3 objects P, Q end R, alt of the sa

materials from 3 different brands of rubber bands.

of the same length.

Which of thess

(4)
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P is the lightest

All 3 objects have poteniial encrgy,

Q is heavier than R.
R will possass Kingtic energy wagn

Aand C only
A, Band D only
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26 May setup an experuvient as shown below, Then she placed fovritems, one at a
hetwoen e magnst and the chp and observed if the paper clip dz"eppeo
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Matilda released four different types of balls of the same-sizs and volume &
" the same h#ight above Lhu ground by an ancjosed yoom.
Plastic Copper Rubber Styrofoam
ball | ball ball ‘wd
—_— ) —
O W O
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Which one of the following sats of resuits comvecily shows the resull she obia
(1)
| Types of Plastc Coppert Ruabber
g balls A
I Time rakan 2 1 3
! (sec) ot .
(2)
‘_— Types of Plasiic {  Cogpes Qubbsr | Stwrofoam |
L bunq - I' !
- : — - e
t Time taken | L 3.8 2 ;
L e | R
(3) .
i Typesoi” [ Plastic | Cogper | Rubber  Suvrofeam
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f Tir ken 1 1 } » 1 ‘ L ’
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peaguin ' great diving beatle | ;D a.y.inu m;mtis
! chicken ; water spider f . co
| : i { i
et e i Lo e e

according ¢ o
.
{

(23 DY

{5) where they are found

(4} AW Re Y meve

B
an pass through copper. steel, svon, nichrume, hrass, carbon
I NI, ’
(s wcs 2o non-condiastors of eleermicity and they o event us o
goiNg “tn‘rro(wtm .

CEY 0 Salk, winol, teather, rarteh and wood are rmaterials that wers oncs alive,

{3 Antrnels can raove but plants and fungi cannot

Which of the followving statements about feat trans

G- 1R alr ag wetar vvaporates.

R ‘EE condenses on rhe surface of a glags of ;oe water

<

St '\ vicce of but oi the table gains teat and melts.
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Wite your angwers to quesiions 31 —4

3L A oallslarting at point X rols Jowm a hill a3 showiin the dagvem.

(a) What form of energy does the bali possess af pom X7
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Study the diagram belgw,
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Electromagunet

“(a)  What will happen to the veds when the electromagns® is breught ciose to them? {1m)
(b) Why does this happen? {Im)
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The duagrm below shows an experiment thar inve
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Look at thy diagram below

.. A paper windmili 1s brought near o thes spovt of tie ket

kettla bejls

(2)

\\fnau do you think wo \;_Q nappen Yo e windmiil?

What doss 9

(®)

this expenmieni show

Bruce made a ’rf‘nar‘
casttay car on 1t He CaT {rom one end of ths
bricge ‘o the other as s} (o
! YRS - s e
SEE: i BT LM ! [ aYsTal . !

-fod magnst
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3%. A marbie 3¢ releasad from a height w30 cm at some distance from the emn
match bos Hinng the plane as shown in the diagram Heiow. When the marbiz
s rejeased @ robis dovr and pushes the matchbox away.

Helght

of ramy ,..w.@‘

e iy L Matchbox

w»

SN NSS! P LT tman Py - d \ v 1 £ . - 4

{(al What would heppen 10 1he matchbox if the height of the rafinp were tnereased by
another 20 em? ' (Im}

.'GA‘ ‘\ - -

e Ulve aresson for vour Znswer in (2).

39 Diasn ram A showes haw water trickies from poies of the same size in a coniainer.
Dfagmm D oahows a dzmowith a generaie r for elec :V;f:zty.,

[a £ "

&) re oponings of dams near the bottom ¥ (I}

(b Dragorthe the ¢neepv conversion  the dam tat penerates Slecticity, fim)
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472, Name two diffvrences hetwaren a plard cell and an ammsi cell. Cars)

i e A L At e P 2t iy L it e <t e 2D 41 o : S - o

43, » HARMYUL ANIMALS

[ I "““‘"‘“\‘
t
T 5 l
spread drseases destrov planty are poisonous
\
{
i,,~,~4,v._.. o~ ——— ey ---.-,__,.,.\\,_‘: i____‘ _5 1 o . v—»«A———A_;
{ } i ! a

can fly carrat Iy can fly cannot fly caa flv cannot Iy

Write down an example of un animal that fits the descption for AL B, Caed D, 4}

{a) Anirgal A

{b) Animnat B . -

At A — e e

(C\, Anarnal & ) ) .

(Y Animsl Db

TR . o

X
fay

42y The splituap of x celt © produce two new cells s called
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(D)

a hand-turped generator

a bicyele dynamo

Name the energy change in the 2 devices shovwn abovs

=)

When Valerje shines the torch on object X, a shadow is formed on ik

Why does the object X cast a shadow o the sereen? )

3
, . T [
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- Q%L\’\\\\ﬁ i
Jorch hight - _@\\‘\\\% \ é
Obicct X T 7 4+~ Scrzen

T oM it saraen’ (i)

What must Valerie do o decresss the ze o
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Five snaled test wobes were set up as shown, Pour of them either contained anuatie
piants and ammais of Justaquatic manb oT animais.

A bicarbonai incicater was put in cach test tube, The bicarborste indicator
changes from red to yeliow as the concentration of -
(It does nevharm the piants or anzmals)

bon dicwrie mersases,

¥ = . 1Carbhén:
Ligiprnod Qover Bicarbe nate
’ R Andm\uu

A
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) i \J’VJ | ] ! ,
i i I OU 1 33 B ]
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! i ! :
i I i
14 '
; 2 {

:! \-—_‘.—’ 7 \.\ !

bl Tuve © ] ube Do & Contrel i

— 2

afthe expenmeant in which st ihaswould the indicator change colow?

{(im)
4, S S
(1N T Jey O UE e Y=Y iy - ’
() Explain your answer & (1) e

End-of-Paper

&
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1) 2 28).2

LYy 1 31) a) Gravitational notential energy

b) Poimt C

L
N
2

6) 1 c) Alr resistence

7y 3. 32) carbon dioxide

vnderfrond/undesaide

[ve]
A
6

S
b

33) a) When it was at 12 noon,

\

—
S
~
[\

12y 2 34) a) The steel rod will bs sr-racisd wnile che comper
rod will not,

b) Steel is a magnetic wmaterial bar copper is nob.,

35) a) Dark blue

Dark tlown

o
1!
et
r3

b) P could thotesynthesize as xro couid recaive
sunlight and carbon dinxid

e

%

R could not phorogynthosis ¢ 34 could reseive
suunlight bvt naot curbon Jioxide,

b
%
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it
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ot
O
e
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3

he windmill would spnin,

b) The steam has kinetic encrgy thet causas the
R N I SN,
21) !_]_ WINOGIML L CC F_)}_)_L\u‘
99y 1 37) magnetic stagl
L4} D
N 38) a) The matchbgx weuld be sushed farzner zawaz
L O £
b) Thig would inurvease 1ts ur:
“Z,\ 2 Ly i J > - - - BN > O
‘ enevey which will be convert
25) 3 kinetic enarpgy as it rolls
26) 2 39) a) At the bottom, wactev pressure is che highest
£ i ~ ' R
so the water flows unt with the highest kingtic
AT e YD
2—/.) 3 enevgy,
b) Graviia i Linegic




5f compressed sprigg.
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The Tenzhh

h) Potential kinetic
energy enargy

oy He rould ccomprass the gpring te L oam
a1) a) Cell mevbrans
) Crioplasm

¢} Nucleus

11 has chlovoplast and cell wall while the

g
I oeil does not.

pol

O

N
=
N

ii) The plawntn rell has 3 cell parts while the snimal cell has
J ceil paris.
435 a) mosguitoefhousell
b)Y locust/grazsshcpners

44) a

b) kinetic energy —--- electrical energy =-=--- heat ead light
energy

48) a) Light travel is a straight line.

b) She muzt pun the obiect near the suveen.

1

Tannot

zube A, there is no sunlight so pho
1 1 snai

= ct

O

n

Ly <

[ ]

oo B

Wt "‘V‘
o

" @ Uy
HenoH

rake © Fence, the plant &nd sa e groduce
more <o dioxide. In tube D, the snail respires o
C

D :
e carben daoxide.



